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Fractions
Exercise 2A

Solution 01

Answer:

We have the following:
(i) 58 and 712

By cross multiplication, we get:
5x12=60and7 x8=56
However, 60 > 56

o 58=T712

(i) 59and 1115

By cross multiplication, we get:
5x15=75and9x11=99
However, 75 < 99

& 59<1115

(iiiy 1112and1516

By cross multiplication, we get:
11 x16=176 and 12 x 15 =180
However, 176 < 180

- 1112<1516

Answer :

. ' . 3 5 7 1
(i) The given fractions are 5, 2,3 aruil—;
LCMof4, 6, 9and 12 = 36

Now, let us change each of the given fractions into an equivalent fraction with 72 as its denominator.
3 _ 3x9 _ =
1

10 36
5 _ Ew6 _ 30
6 6x0 30
T _ Tx4 _ 28
3 9xd4 36
11 _ 11x3 _ 33
12~ 12x3 30

27 28 30 33
Clearly, 6~ 36 <3 ~ 3

3 7 5 - 11
Hence_z <3 <E < kT

= The given fractions in ascending order are %, %, % and :—; .
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; : i L4 7 o1 17
(i) The given fractions are: ¢, 7, 1z and .

LCM of 5, 10, 15 and 20 = 60

Now, let us change each of the given fractions into an equivalent fraction with 60 as its denominator.

4 _ Axiz _ 48
5 GxiZ2 00
T _ Tx6 _ 42
0~ 10x6 60
11 w4 44
15~ Toxd 60
17 _ 1Tx3 _ 51
M 20x3 60

42 A4 48 51
Clearly, WS m -

w0

7 11 4 AT
Henceﬁ<1—<g<§
= The niven frartinng in asrendinn nrder are Lou 4 and 17

Solution 03

Answer :
We have the following:
; ; ; 3 7 7 17
(i) The given fractions are T E T and 5

LCMof 4,812 and 24 = 24

Now, let us change each of the given fractions into an equivalent fraction with 24 as its denominator.
3 3x6 _ 18

4 4x6 T 24

7 1x3 _ 2
B Bx3 T 24
T Tx2 _ 1
12 7 12x2 T 24
17 _ 17x1 _ A7
24 T 24x1 T 2
21 18 17 14
Clearly, Ery = 5 = n > o

7.3 17 7
Hence, ¢ > 5 > 51 > 35

= The given fractions in descending orderare £, 3, & and =.
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; : i 2 3 7 8
(ii) The given fractions are 5, ¢, = and —.
LCM of 3,5,10 and 15 = 30

Now, let us change each of the given fractions into an equivalent fraction with 30 as its denominator.
2 _ 2x10 _ 20

3 3x10 — 30

T Tx3 _ 21
10 10x3 30

8 _ 8Bx2 _ 16
15 15x2 30

21 20 18 16
Clearly, 0 = ki = Tl = W

7 2 3 B8
HEHCE,ﬁ}E}E}E

» The given fractions in descending order are =, 2, £ and %
Solution 04
Answer :

We will compare the given fractions % and% in order to know who got the larger part of the apple.
We have,

By cross multiplication, we get:
2x5=10 and4 X 7=28

However, 10 < 28
24
f7T S5

Thus, Sonal got the larger part of the apple.

4 2 __ 2810 _ 18
N0w,5 7T 3 35

- Sonal got % part of the apple more than Reenu.

Solution 05
Answer :

me+s=1

9
R 7
(”]E‘FE
32 21 2 =
= + - [~ LCM of 9 and 12 = 36]
_ 3
T
53 _ 117
3% 1%
5, T
(i) 5 + 3
o 21 . =
=5t 5 [ LCM of 6 and 8 = 24]
_ 90421
T T
_41 _ 417
=5 =1l

(V) & + 3 + =

28 33 18 . _
= + = + = [~ LCM of 12, 16 and 24 = 48]
_ 28433418

- 48

_T9_ 431

=5 =173

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

4 3 i

_19 , 23 , 16
TETRTE
114 ) 32 | COM -
= = + o + e [~ LCM of 5, 10 and 15 = 30]
114169432
30
R R |
‘E_Tso - 75
(VI)S%-FID%
_ 35 , 52
=Tt
_ Iy 2 = LON -
= 5 + = [~ LCM of 4 and 5 = 20]
1754208
70
_383 _ 193
= — %
Solution 06
Answer :
A5 _2_52_3
Wz—7=7 =7
63
33
1w _ 9  LCM -
=3 5 [~ LCM of 6 and 4 = 12]
_ 10-9
12
=L
12
(i 31—+
1.7
5 10
_3 _ 1 - LCM -
== 0 [~ LCM of 5 and 10 = 10]
- 327
10
_2% _5_g1
_5_2_22
(v 7—42
_I_u
1 3

=2M  icMof1and3 =3
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3 7

[+ LCM of 9 and 15 = 45]

Solution 07
Answer:

O5+s—3

= % [+ LCM of 3,6 and 9 = 18]

(i) 82 —32 +1L

_5 _ 21, 1
=5 5 TtE
=w [+ LCM of 6, 8 and 12 = 24]

_ 2081 _ 169 _ 71
24 24 — " 24

Solution 08
Answer:

Total weight of fruits bought by Aneeta = (3% + 4%) kg

Now, we have:

= =_= [~ LCMof 2 and 4 = 4]

15418 33
—=T-8

Hence, the total weight of the fruits purchased by Aneeta is 8% ke

Solution 09
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Answer:
We have:
15§em
A 4+ B
lzlum
2
D c

Perimeter of the rectangle ABCD = AB + BC + CD +DA
2 3 1 pi 1

. (151 Fa2t 4 182 ¥ 125) am

2 63 25 63 25

= (T + 5+ ?) cm

- (w) cm [+ LCM of 2 and 4 = 4]

_ (220 e JMER! T
‘(T)cm_(T)cm_EBEm

Hence, the perimeter of ABCD is 56 = cm.

Solution 10

Answer :

Actual width of the picture = 72 cm = £ cm
Required width of the picture = 7<= cm = % cm
; iath= (32 _ 18

~ Extra width = ( T 10) cm

= (%) cm [+ LCMof5and 10is 10]
-
ST cm

Hence, the width of the picture should be trimmed by 1—30 cm

Solution 11
Answer:

Required number to be added = 18 — T%

_ls_ 38
1 5

= % [+ LCMof 1 and 5 = 5]

_5 _qp2

=% —105

Hence, the required number is 10%.

Solution 12

Answer:

Required number to be added =82 —7 &

= 120109 .| ) of 5and 15 = 15]

7

=1 _qg2

-
e

Hence, the required number should be 1 1—25

Solution 13
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Answer:

Required length of other piece of wire = (3% -1 %)m

(15 3
"(T 2)]:1
=(¥)m [+ LCM of 4 and 2 = 4]

ales

g1
m_24m

Hence, the length of the other piece of wire is 2—; m

Solution 14

Answer:

Actual duration of the film = (3% -1 %) hours

(IT . )]:Lours

( )]101.115 - LCM of 3 and 2 = 6]
= 163 hours = 2 %huurs

Hence, the actual duration of the film was 2—; hours.

Solution 15

Answer :

First we have to compare the fractions: 3 and 2.
By cross multiplication, we have:
2x9=18and5 x 3=15

However, 18 = 15
2 5
‘379

So, % is larger than %
2 5
Now, 3 3

% [+ LCM of 3and 9 = 9]

al=

Hence, % is % part more than %

Solution 16
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Answer :

First, we have to compare the cost of the pen and the pencil.
Cost of the pen = Rs 16% = Rs %
Cost of the pencil = Rs 4% = Rs &

4

MNow, we have to compare fractions 8—53 and 14—9.

By cross multiplication, we get:
83 x4=332and 19 x 5=95

However, 332 = 95

«|E

1

=

=

=

S0, the cost of pen is more than that of the pencil.

83 19
MNow, Rs (? — T)

“Rs (Lm%) [ LCM of 4 and 5 = 20]
B 237 _ 17
-Rs 21 — Rs 111

= The pen costs Rs 11 1—2; more than the pencil.
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Fractions
Exercise 2B

solution 01

Answer :

(iii)%xﬁ— 4x15 _ 1x5 _ 5§

1 916 Jxd 12z

(vi) £ x 1000 — & x 1090 _ 5xlo00 _ 5x1%5 _ gog

1 Bxl 1x1

nl _ 25 16 _ 25x16 _ 25x2
(i) 3¢ x16==2x T =+ =25 =50

Vi) 24 x 12— 3 12 _ MxI2 _ 3t _ 130 _g71
15 15

1 15x1 %l &
! i 2 97 . 14 _ 2Tx14 _ Ox2 _
(IX)37X4§— T X3 T e 1><1_18

1 9 _ 10 28 _ 10x38 _ 1wi4 _
OQQEXIE_ 2 19~ 2x10 1=l =14

p.d

41 10 _ 33 . 32 _ 33x32 _ 3xd _
(X')‘i_sXQH_ B XTI Bxil 1><1_12

(52 x12 =3 x 2 _2xB2_ 23 _q0

6 T 6xT =1
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solution 02
Answer :

We have the following:

33 _ 2x5x33 _ 1x1x11 _ 1x1xl 1

35 T 3x44x35  1x22xT © Ix2xT 14

()12 x 15 5 35 _ Labxs _ ixbd _ 1
25 © 28 7 36 5xdx3 | Ixdxl 4

39 _ 10x1x3 _ 1x1x3 3

L1028 1
(i) 37 X §5 X 56 = Trwbnd — Tiwind 27 — B

. 4 13 1
(|v)17 xlﬁ xlE

11, 35 . 16 _ 1x35x16 _ Ix5x16 _ Ixlx8 _ 8 _ g2
ki 22 15~ Tx22x15  1x2x15  Ix1x3 3 3
2 2 33
(V) Qﬁ * 73 H 15
_36 65 B5 _ 30x05xB5 _ 4x5x5 _ 1x5xh — 95
1 9 52~ 1Tx9x52 ~  1x1x4  IxIxl
- 1 3 25
(\.fl)SE XTsx1lsg
_49 52 . B4 _ Tx4xda _ 112 _ 9ol
TS * 3 1x1x3 3 373
solution 03
Answer:
We have the following:
o1 _ 1_ 24 1 _ 24x1 _
(i) 30124—24x3 == x3=55 =8
o 3 _ 3 _ 32 .3 _ 32x3 _ Bx3 _
(i) 5 0f32=32x = XI=r =1 =24
- _ 5 _ 45 5 _ 45x5 _ 5x5 _
(iit) 5 of 45 =45 x 5= T X3 =T =1 =25
. T _ 7 1 T 20T
(iv) g5 of 1000 = 1000 x T =1 Xm == 140
3 _ 3 _ 1 3 _ 51x3
(v)ﬁofmz[]—l(}?(}xm_—l X 50 =353 153

(Vi) 7 Of Rs 220 = Rs (220>< %) =Rs (20 X 5)=Rs 100

(vil) 30f 54 m = (g ><54)m:(4 X 6)m=24m

(viil) 2 of 35 L= (% ><35)L=(6 % 5)L=30L

(ix) 3 of 1 h= 2 of 60 min = (ﬁOx %) min = 10 min

(x) % of an year = % of 12 months = (12x %) months = (2 x 5) months = 10 months
(i) o= of a kg = == 07 1000 g = (1000x%) g=(50 X 7)gm=2350g

(xii) o of 1 m = = of 100 cm = (IODX%)cm:(S % 9) cm = 45 cm

(xiii) £ ofaday= £ of24h= (24x§) h=(3x7)=21h

(xiv) 2 ofa week = £ of 7 days = (7x %) days = 3 days

7 _T _ 7 _ _
(xv) g5 of 1L = 5 of 1000 ml = (IODOX E) ml= (20 x 7) ml= 140 ml

solution 04
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Answer :

Cost of 1kg of apples = Rs 18% = Rs 9—52

Cost0t3% ke of apples = Rs (9—52 X 3%)

“Rs (£ x L) = Rs (Z£1) = Rs 69

Hence, the cost of 3% kg of apples is Rs 69.

solution 05

Answer:

Costof tmofcloth=Rs 422 = Rs 2

- Cost of 5% m of cloth = Rs (% *

_ B5 . 28Y B5x28 § _
-Rs (? x Z) —Rs ( = )_Rs (17 x 14) = Rs 238
Hence, the cost of 5% m of cloth is Rs 238.
solution 06
Answer :

Distance covered by the carin 1 h = 66% km

Distance covered by the carin9h = 66% X Q) km

=(L;° x0) km — (222 km — (200 x 3) km — 600 km

Hence, the distance covered by the car in 9 h will be 600 km.

solution 07

Answer:

Capacityof 1tin=123 L= 2 L

= Capacity of 26 such tins :(26 x %) L

() e () e (52 (2

oo )L=331§L

Hence, 26 such tins can hold 331% L of oil.

solution 08

Answer :

Cost of 1 ticket = Rs 35 2= Rs =.

- Cost of 308 tickets = Rs (7—; x 308) —Rs (% X %) =Rs (71 * 154) — Rs 10034

Hence, 308 tickets were sold for Rs 10,934.

solution 09

Answer:

Thickness of 1 board = 3% cm

= Thickness of 9 boards = (Q X 3%) cm

:(% x %) cm=(3 x 11) cm = 33 cm
Hence, the height of the stack is 33 cm.

solution 10

Answer:

Time taken by Rohit to complete one round of the circular park = 4% min = %min

= Time taken to complete 15 rounds = (15 * 2—:) min

=(3 % 24) min
=72 min
=1h12min [~ 1hr =60 min]

Hence, Rohit will take 1 h 12 min to make 15 complete rounds of the circular park.
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solution 11
Answer :

s

Weight of Amit = 35 kg
Weight of Kavita = % of Amit's weight

=35Kg>(%= (35x %)kg: (‘?x3) ke =21 kg
Hence, Kavita's weight is 21 kg.

solution 12

Answer :

Number of boys in the class = % of the total no. of students

-5 x4~ (5><42) —5x6—=230

7
~ Number of girls in the class =42 -30=12
Hence, there are 12 girls in the class.

solution 13
Answer :

Sapna's total monthly income = Rs 12000

Monthly expenditure = £ of Rs 12000
=Rs (% x 12000) =Rs (7 x 1500) = Rs 10500

~ Monthly savings = Rs 12000 - Rs 10500
=Rs 1500

Hence, Sapna deposits Rs 1500 in the bank every month.
solution 14
Answer :

Side of the square field = 4% m
= Area of the square = (side)?

(3 m)

2
_ 14 _u 14 (1414 2_ 196 2 _ g1 1 2
—(31]1)_3mx3m_(3x3)m_—m_219m

Hence, the area of the square field is 21 % m?.

Solution 15
Answer:
Length of the rectangular park =412 m = 3£ m
Its breadth = 18% m = 9—53 m

= Its area = length x breadth

S (125« 1) e
($x#)m

=(25 X 31)m=775m2

Hence, the area of the rectangular park is 775 m2.
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Fractions
Exercise 2C

01

Answer:

(i) Reciprocal of % = % [ % % % =1
(i) Reciprocal of 7=+ [+ 7x3=1]

. 1 _ L1 o
(iii) Reciprocal of 5 =12 [+ 53 % 12=1]

. . 3 _ - 63 _ 5 .63 5 _
(iv) Reciprocal of 123 = Reciprocal of = =—= [ Xgm= 1]
02
Answer:
pid.-98 _4,14 o i J-u
MzTm=3%3 [+ Reciprocal of o = =]
=38
9
i =32 =L 3 - i )
M F+3=17%3 [+ Reciprocal of £ = 3]
_1_ 41
=5=1%
i B .qp B 1 - i =1
(i) 3716— R [~ Reciprocal of 16 10]

=L
18
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(iv) 9 %% =0x3 [+ Reciprocal of é =3]
=27

(v) 24 = % =24 x % [ Reciprocal of % = %]
=4 xT7=28

= % * 2?1 [+ Reciprocal of 211 E 2?1]
=33=9
(viii)5g +1% _3_79_ %
= 3—79 % % [+ Reciprocal of % = %]
=3__‘_El :4%
(ix) 15%-1%-%_%
= % b % [+ Reciprocal of % E %]
=2 2103
03
Answer
043
- % ® % [+ Reciprocal of % = %]
_u
1
(6= -4
'% ® % [+ Reciprocal of % = %]
=5x2=10
(iii) 5?5} —3% = % N %
= % * 1—30 [+ Reciprocal of 1—3” = %]
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. .13_99. 8

(iv) 321 s " 32+ =3
=32x 2 [ Reciprocal of £ = 2]
=4 x5=20

- 4 _ - 9

- 5 " i 2_5
=45 x T [+ Reciprocal of ¢ = 5]
=5 x5=25
(vi)63+25 =63+ 2
- 4 " i 2_4
=63 x 3 [+ Reciprocal of = 51
=7 x4=28
04
Answer :
_qal _27
Length of the rope = 135 m=3m
Number of equal pieces = 9
- L T
=~ Length of each piece = (T = ) m
_ (2 1 S _1
= (T * 3) m [+ Reciprocal of 9 = ]
_3 .11
=3 m —].E m

Hence, the length of each piece of rope is 1% m.

05

Answer:

Weight of 18 boxes of nails = 49% kg = % kg
- Weight of 1 box = (% - 18) kg
09 1

_ - Beci - L
= (T X ﬁ) kg [+ Reciprocal of 18 = =]

_ (992 _ (1 1, _o3
- (les) kg = ( 2x2 ) kg=T kg=27kg
Hence, the weight of each box is 2% kg.

06

Answer :
- 3 _pe 16
Cost of 1 orange = Rs 3; =Rs
Total cost of the oranges sold by the man = Rs 210
=~ Required number of oranges = (210 = 175)

- 4 e Dapi 15 _ 4
= (210 X E) [+ Reciprocal of ¢ = 5]

= (14 x 4) =56
Hence, the man sold 56 oranges.

Answer :

Cost of 1 kg of mangoes = Rs 18 2= Rs

Total cost of the required mangoes = Rs 15?% =Rs %
~ Weight of the required mangoes = (% + 3—;) kg

4
I i _el

Hence, the weight of the mangoes available for Rs 157% is 8% kg.

_fo20 2 - Dapi 31 _ 2
—(— X ﬁ) kg [+ Reciprocal of 5 = =]

07
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Answer :

Distance covered by Vikas in 7% h= 20% km

= Distance covered by himin 1 h = 20% = T%) km

——

- (52 . 31

—(T 4)km

_ [ 62 4

= (T X i) km

_ [ Zx4 _( 8 _n2

= (T) Km—(?) Km—?; km

Hence, the distance covered by Vikas in 1 his 2% km.

08

Answer :

Cost of 8—; kg of sugar = Rs 148%

Hence, the cost of 1 kg of sugar is Rs 17%_

09
10

Answer:

Cost of 1 notebook =Rs 7% =Rs %
= Number of notebooks purchased for Rs 69% = 69% = ‘1—1)

(2 . 3
1 "1
_f 2r 4 S 31 _4
'(T X 3) [+ Reciprocal of &+ =]
(2 _
‘(T) =9
Hence, 9 notebooks can be purchased for Rs 69%_
11
Answer :

Cost of 1 icket =Rs 10 £ =Rs &
Total amount collected by the boy = Rs 283% =Rs

~ Number of tickets sold = (% = %)

561
2

_ (507, 2 S 21 _ 2
—( 5 X 21) [+ Reciprocal of <+ = =]

_ 567 _
——1—27

Hence, the boy sold 27 tickets of the charity show.

12

Answer:

Amount contributed by 1 student = Rs 61 3 = Rs 12

Total amount collected = Rs 676% =Rs LQ‘“
- Number of students in the group = (% + 1—33)
_ {13 2 . ; 123 _ 2
= (T x ﬁ) [+ Reciprocal of == = —=]
1353
'( 123 ) =11

Hence, there are 11 students in the group.

13
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Answer :

Quantity of milk given to each student = % L
Total quantity of milk distributed among all the students =24 L

= Number of students = (24+ %)
_ 5 2_5
= (24 ® E) [+ Reciprocal of £ = 3]

=(12 x 5) =60

Hence, there are 60 students in the hostel.
14

Answer:

Capacity of the small jug = % L
Capacity of the bucket=20 3 L =

B1
T L
~ Required number of small jugs = (ST = %)
(35 2] Rec 3_4
= (T ) [+ Reciprocal of § = ]

(8-

Hence, the small jug has to be filled 27 times to empty the water from the bucket.

l..al

15

Answer :

Product of the two numbers = 15% :%5

One of the numbers = 6% =

wlz

= The other number = (%5 + %)
_ (s 3 19 _ 3
= (? * E) [ Remprocal of T = ﬁ]
_(5Y _ o1
N (E) =2 7
Hence, the other number is 2 %
16
Answer :
Product of the two numbers = 42
One of the numbers = Q e 4—59
= The other number = (42 + 45 )
= 5 - i 49 _ 5
—(42 X E) [+ Reciprocal of + = =]
_(6x5) _ 30 _ 42
"(T) =7 =43
Hence, the required number is 4%_
17
Answer:
Required number = (6% =+ 4%)
— (58 . 14
9 - 3
_ (56 3 . . 14 _ 3
= (? * ﬁ) [ - Reciprocal of == = =]
(e 41
- (?) =13

Hence, we have to divide 6% by 1% to get 4%_

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

Fractions
Exercise 2D

Q1

Answer:

=]

(©) 3

w|

% is a vulgar fraction, because its denominator is other than 10, 100, 1000, etc.

% is an improper fraction, because its numerator is greater than its denominator.

Q3

Answer :

A fraction that is reducible can be reduced by dividing both the numerator and denominator by a
common factor.

105:7 _ 15
112:7 16

105 . !
Thus, = is a reducible fraction.

112

Argérer .

(c) equivalent fractions

Equivalent fractions are those which are the same but look different.

Thus. é, % — %, % = %, 1% = % are equivalent fractions.
Q5
Answer :
9 _ 13
© %~ %

; 9 13
The two fraction are —= and 3.
By cross multiplication, we have:
9 x 24=216and 13 x 16 = 208
However, 216 > 208

9 _ 13
R

Q6

Answer :

(d) none of these
Reciprocal of 1 3 = Reciprocal of % =

=1

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

Answer:

_ f9416 e _
= +E) - (T) [+ LCM of 10 and 15 = 30]

. (391228) [+ LCM of 4 and 3 = 12]

Q9

Answer :

(d) 144

36 = % =36 x4 [+ Reciprocal of %= 4]

=144
Q10
Answer :
(b) 2
Required number = 1‘—; —2%
13 . 13
T "5
=188 5 rRed 13_5
== X4 [ Reciprocal of A 13]
3
7

Q11
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Answer:

(4) 24

Required number = 1 ; +:—§

3.2
2 3
=3 x3  [+Reciprocalof 2 = 3]
=2=21
Q12
Answer :
(22
1§+3-4+3
= % % % [ Reciprocal of % = %]

Q13

@13

5 -+ Reci §_5
x5 [ Reciprocal of 5 b]

Q14

Answer :
3
(@3
Reciprocal of 12 = Reciprocal of 3 = £

Q15
Answer:
3 2 14
O g<3<%
3

The given fractions are £, % and% .

LCMof5, 3and 15 =15

Now, we have:

3 2 14
E{3<E
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Answer:

(c) 44 km
Distance covered by the car on 2% L of petrol = (16 2 %) km

_ 11
= (lﬁxT) km
= (4 % 11) km = 44 km

Q17

Answer:

(a) 10 % hours

Time taken by Lalit to read the entire book = (6 X 1%) h

=(ﬁx%)h

— 21 _ 1
- (?) h=104n
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